| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

98— S~
£ : 5
(=N} . 2
2 .
- . o N
E A SRR L R R R T R L Ly AR o°
0 & . N
B . k]
o C M : g
S8 3 e o =
= H v —
[te} I H
g !
g .
o 5 Tterees R
5 !
Lo g .
| K] .
° . o
=) 3 T
— @ : 1
| K] :
e} o .
b e I
o 3 . !
S| :
s .
5 | R
) 8 2 !
5 o
z
0 _ o
9 QL=
€ £
QS <
> N
o X e
lN 5
o Q g
— © S =
= —
LD
........ o o
[fe]
I o
) —
. 15 !
LD
B LR LR R i< o
| N
Lot S _
R . I
1 1 9 &
+ L X P
=1 o °
Syoel) aye} H
90~ &2
€ £
3 g s N~
N
> o3
- |5X n/_d
l.“ S
q 128 [ £
S =
& s |8 =
N -{o g
ho £
.,mr.mamv -{o g <
feE 1o =3
uﬁﬂ [ m o
s=s] = 2 b
£33 -1 S !
= ! g
. T 44 £ o
| 2 o
= I~ 2 )
el B ]
ESS 9 1 [ P N W =
boo) Dy £ 5 > ) i
b5 3 5 S S c
SHoel) aniy [TH z| spendhy
b -
OO0
OO
OO |
==l
=]
OO0
= 3
g “

vl
1]
1

VBES

)
BEW

track dxy (cm)

20
track dz (cm)

0

0

-20 -10

0

syoen

05 =50-15-10 -5 0 5 10 15 20 25

5
3
syoen

N of reco track vs dz

5
=3



	Contents
	Page 1


